A B REFIFhEE

% 5% F1E 2016411 H23H
13 Hi¥HFOK VS 18 FZHBLEPA
= H=
EXFTAX LTHEF LTHEF X AX
1t - FiEwS 7R : 4FSIE 1t : FEEE IR ;BN
[EZ 7 : KRR M : 5KAREA 7g : BBLL
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | XK LL PAS K INT 50 2
2 it [ri] 6SXx = -1210 [ri] 6S -1 50 15
3 panyiie] [£3] 3NTx | -1 -100 x 3H -1 100 5
4 PWE=] 1t 3NT +2 660 5| 3NT +2 660
5 |&dtl & | 3NT | -1 | -1200 § B | 3NT | +1 | 630 12
6 panyiic] 1t 3NT +1 430 1t 3NT +3 490 2
7 WE=] 1t 3H -1 -100 1t 2H = 110
8 TS 1t 4H -2 -100 LL PAS 3
9 panyiic] [£3] 4Sx -3 -500 [ri] 4C -1 100 12
10 | \WHB 1t 3NT -2 -200 x INT -1 100 7
DATUM&iit iFE
HiFOK THEE v -] 63
FrHRR/ BRI -39 2 BU/5K R 36 &it 63
I/ LT -36  EPALE/ARERIR 39 V.P. 20




A B REFIFhEE

%5 2R 2016411 23H
3 B ER VS 6 EBRBEP
H= A=
FEE EE EE FEEE
1t ENE - T 1t BT % - 2
B RC= [T g : HE 7g : ZRjIE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x INT -2 100 [ri] 2H -3 150 2
2 it x 6S -1 50 [ri] 4S +2 -480 11
3 ,?ﬁ 1t 4C +1 150 x 3H -1 100 2
4 WE=] 1t 3NT +2 660 5| 3NT +1 630 1
5 |mdt]l & | anT | = | 600§ & | oanT | +1 | 150 | 10
6 panyiie] 1t 4S +2 480 [£3] 3S +2 200 7
7 WE=] 1t 2H -1 -100 1t 4H -3 -300 5
8 TS [ri] 2S -2 100 1t 3H -1 -50 4
9 panyiie] [ri] 4H -1 100 [£3] 3S -1 -50 4
10 | \WHB [ri] 3H -1 100 x INT = -90 5
DATUMSit T
GSEPA BREEPA Y. X+ 49 2
INE/RICE 34 SnsE/HE -15 ait 49 2
ZAm/ZIE 15 T TTR/ERETT -34 V.P. 19.96 | 0.04




A B REFIFhEE

%5 3R 2016411 23H
7 KR VS 11 ZZEEARA
H= A=
REAR S, T Bk
16 - SN S E— gy~
B IKE 7 : R i RE A E—F
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x INT -1 50 LL PAS 2
2 it [ri] 4S +2 -480 [ri] 4S +2 -480
3 panyiie] 1t 3C +2 150 1t 4C +1 150
4 E=] [ri] 4HXx -2 500 5| 3NT +1 630 4
5 |mdt]l & | anT | = | 600§ & | oanT | +1 | 150 | 10
6 ,?ﬁ [£3] 4S +1 450 1t 3NT -3 -150 12
7 E=] 1t 2H +1 140 1t 4H -2 -200 8
8 TS 1t 3H -1 -50 1t 2H = 110 4
9 panyiie] [£3] 2S = 110 [£3] 3S -1 -50 4
10 | \WHB x INT -2 200 1t 3NT -1 -100 7
DATUMSit T
2l I SZENEARA Y. 5+ 43 8
7 AN /5KER 21 SREELE/IREE -15 ait 43 8
Ea/E—F 15 ZJBE/APER 21 V.P. 18.58 | 1.42




A B REFIFhEE

% 5% B4R 2016411 H23H
1 FYIZTFRA VS 15 ;IR SR
H= S
RYIZFRA yIFArRIERA yIFArRIERA RIZFRA
1t @ PRUR R KR it : B IR @ SRERZE
ER o 78 : kg RS 74 BUZEK
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t INT +3 180 x INT -2 100 2
2 it [ri] 6D -1 50 [ri] 6S = -980 14
3 panyiie] 1t 4S -1 -50 1t 3C +2 150 5
4 E=] 1t 3NT = 600 5| 3NT +2 660 2
5 |gEltl = 2NT | +1 150 [£3] 3NT | +1 630 10
6 panyiic] [£3] 4S +1 450 [£3] 4S +2 480 1
7 E=] 1t 3H -1 -100 1t 3H -1 -100
8 TS 1t 4H -2 -100 1t 3H -1 -50 2
9 panyiie] [ri] 2C +1 -110 [£3] 2S +1 140 6
10 | WHB x INTX -1 200 x INT -1 100 3
DATUM%tit iFEE
w~IZFRA LRI SPA y. S+ ] 19 | 26
MEB/SEES 11 Finag 11 Aait 19 | 26
KEZ/PCK  -11 RN/ T3 5TEE -11 V.P. 7.49 | 12.51




[y ep e

HE IS

%55 5 R 2016411 23H
2 BEEHFEIEA VS 8 M5tk —PA
H= A=
SR =\ o\ ST
1o - BT 7 . RO T T=% % - BHE
& - B 7 - = 7 SRR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x INTX -2 300 LL PAS 4
2 it [ri] 6S -1 50 [ri] 4S +2 -480 11
3 panyiie] 1t 3C +2 150 1t 2C +3 150
4 E=] 1t 3NT +2 660 5| 3NT +1 630 1
5 |gdt] & | oanT | +2 | 150 f & | onT | = | 120 | 2
6 panyiic] 1t 3NT -3 -150 [£3] 4S +2 480 12
7 WE=] 1t 4H -3 -300 1t 3H -1 -100 5
8 TS 1t 4H -2 -100 [£3] AINT +1 120 6
9 panyiie] x 3H -1 100 [ri] 3NTXx -1 200 3
10 | WHB [ri] 3HXx = -730 [£3] 3C +1 130 13
DATUMSit T
B =i HEA HiSiRE —BA Y. 5+ 20 39
XSHRLT /] -9 FELGR/ZEGte 12 &it 20 39
PR E/EFBEE -12 2T/ KRR 9 V.P. 4.25 | 15.75




][y p e

BE IS

¥ 5% %6 % 2016411H23H
4 BEEKS VS 9 BiSisE—PA
= HZ=
BEKS B5 R —RA B5 R —RA BEKS
it HRE R FR it : ENEEH L3 =]
B BEZE 75 : Z=HREQ R E 7 MTEE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | XK LL PAS it INT | +2 | 150 4
2 |gdel 4t | 2Hx | +1 | 870 | % 6D = | -920 | 18
3 |z;AE| 4t | scx | = | 550 | &5 3S = | 140 | 9
4 |wal & 4D | -1 | 1200 | & 2s | -1 | -100
5 |gt| & 3¢ | 1| 50 3] 2s | 2 | 200 6
6 |zl & 6C | -1 | 50 | & 4s | +2 | 480 11
7 |ws) 4t | a4 | 3| 300 4t | 3H | -2 | -200 3
8 |wx| A | aNT | 2 | 200 | 46 | 4H | 3 | -150 | 6
9 |®E| & 2H | -1 | 100 | w& 3H | 5 | 250 | 8
10 |wal %= | aNT | 2 | 200 ] %Z& | INT | -2 | 200
DATUM&iit g
HEKS BR& 85— PA v 5 ] 47 | 18
ZRE/BEZ 5 E=nnw/iaredE -33 ait 47 | 18
MEB/ME EE 33 2SR /ZSHREN -5 V.P. 17.67 | 2.33




A B REFIFhEEE

¥ 545 BT R 2016411H23H
5 IRBEHD VS 16 ["HRERPA
A= H=
RS AT I 5EFRKRA I REFKBA RS AT
it . EEE R &% it : EE Lo =i
B B 73 : #RJ1|EF [EZ I 2 =
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wel & | inT| 2| 00| & | 21 | 2 | 100
> |mt| & | 4s | +2 | 480 | &\ | 4s | +2 | -480
3 |mA| 4t | sex | +1 | 650 | &= | 3H | -2 | 100 | 11
4 |wa| = | spx | 3| 80| 7 | sbx | -8 | 2300 22
5 |gdtl & | aNT | 2| c100) & | 3NT | 2 | 200 3
6 |zAE| 4t | sNT | = | 460 | 4t | anT | = | 400 | 2
7 |wal 4t | a0 | 3| 300 4t | 4H | 2 | 200
8 |wxl| 4 | anT| 3| 250 4t | 31 | -1 | 50 3
o |#m| & | 4sx | 3 | 500 | & | 4Hx | -1 | 200 12
10 |wal % | anT | 2| 100 ] & |1NTx| 2 | 500 9
DATUM&iit iFE
IREEIFN ["HEREA r. 3+ 16 | 49
BER/ERE -30 ERIEET 18 &it 16 49
Baif/Ef -18 Fata Ly VIES 30 V.P. 1.7 | 183




A B REFIFhEE

%55 8 i 2016411 23H
14 F®YIZBEPA VS 17 FBGES
H= A=
TYIEE FYIEOES FYIEOES TYIEE
It EEE g T — % EE
& - BN 7 TER & B 7 - Bt
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3D +2 150 LL PAS 4
2 it [ri] 7S -1 50 [ri] 6D = -920 14
3 panyiie] 1t 2C +2 130 1t 3C +2 150 1
4 E=] 1t 4C = 130 [£3] 4D -1 -100 6
5 it x 2Sx -1 100 [£3] 2NT = 120 1
6 panyiie] 1t 4S +2 480 x 4HXx -3 800 8
7 E=] 1t 3H -1 -100 1t 3H -1 -100
8 | W LL PAS it 3H -1 -50 2
9 ,?ﬁ x 3H = -140 x 4H -1 100 6
10 | \WHB x 2S = -110 [£3] 4C = 130 6
DATUMSit T
iRIIZEPA SIEGES Y. X+ 26 22
B E[E/Eh/ N -3 RE=/XIFEHT -12 ait 26 | 22
SEEMREH 12 SER/EER 3 | Ve | s | es




A B REFIFhEE

%55 %o 2016411 23H
10 EIBTHSEA VS 12 EBETFRA
H= A=
]| BTN BTN |
1t ahE 7 i T % B
EREINE 7 : ZE BA B i I vk
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] INT -1 50 x INT -2 100 2
2 it [ri] 4S +2 -480 [ri] 4S +2 -480
3 panyiie] 1t 3C +2 150 [£3] 3S = 140
4 E=] [ri] 4HX -3 800 ® 3H -2 200 12
5 |gel & | anT | +2 | 120} & | onT | = | 120
6 panyiie] x 2HXx -2 500 1t 3NT +3 490
7 E=] 1t 3H = 140 1t 2H = 110 1
8 o v LL PAS x 3C -1 50 2
9 panyiic] [£3] 4Sx -2 -300 x 4H -1 100 9
10 | \WHB x 4H -2 200 x INT -1 100 3
DATUMSit T
[EIEH R = 1UN gAxETFPA Y. X+ 16 13
B/NFE/EZNAE 10 EAfELR/iEPE 3 ait 16 13
PEPINE 7 il -3 KEA /R EHR -10 V.P. 11.14 | 8.86




